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General Instructions—

(i)  This question paper has 5 sections A-E.

(i) Section A has 20 MCQs carrying 1 mark each.

(ili) Section B has 5 questions carrying 2 marks each.

(iv) Section C has 6 questions carrying 3 marks each.

(v) Section D has 4 questions carrying 5 marks each.

(vi) Section E has 3 case based integrated units of assessment (4 marks each) with
sub-parts of the values of 1, 1 and 2 marks each respectively.

(vii) All questions are compulsory. However, an internal choice in 2 questions of 5
marks, 2 questions of 3 marks and 2 questions of 2 marks has been provided. An
internal choice has been provided in the 2 marks questions if Section E.
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(viii) Draw neat figures wherever requried. Take © = El wherever required if not stated.

SECTION-A

Section A consists of 20 questions of 1 mark each.

1. Find value of p, q such that prime factorisation 0f 2520 is expressed as 2>x3Pxqx7:

(A) 2,3 ; B) 3,5
(2 502 D) 5,7
2. Onsolving pair of linear equation common solution is (-3, 2).

One line is x-y =-5, find second line :
(A) 2x+5y =—+4 (B) 2x-5y=—4
(C) 2x+5y=-4 (D) 2x+5y =4
3. Ifx(x+1)+8=(x+2) (x-2)+xis:
(s P.T. O.




(A) Linear equation
(C) Cubic equation

If (a, 0) (0. b) and (x, y
(A) ay-bx=

(C) ay+bx=ab

A tangent PQatapoint Pto 4 eircle of rad
Otoapoint Q such that 0Q =2 cm, len

) are collinear then :

(2)

(B) canﬂ:uacﬁ_:_.._:,,,:
(D) Not ?,,;.&_n ¢quation

(B) ax+by=1
(D) ax-by=ab
fus 12 om meets the line through eentre

gth of tangent PQ is:

mu
&
e
0 20 cm 0
(A) 15 cm ®) 12 cm
(C) 13 ¢m
(D) 16 cm
Inthe figure PQ is parallel to MN. qwm = _lhw. and KN =20.4 cm, then find KQ,
K
P Q
M =N
(A) 4.8 cm (B) 4.6 cm
(€) 44cm (D) 4.2 em i
Given the value of secO+tan0+1=0, Find value of secO—tan ; 3
© -1 (D) None
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In the figure ifAC = 2m, OC = 3m, OD = 7m. Find BD.

(A) 14m (B) 3m
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(C) 12m (D) .w..B
LCM of 2 prime numbers p and q (p > q) is 247. Find 3p-q :
(A) 28 _ (B) 44
(C) 38 (D) 4
Ifa, b, c are in AP with common difference d then the vatue ofa-2b+c is equal to
(A) 0 (B) 2a+4d
(C) —2a-4d (D) a-d

BXSULRY =)

In the given figure XY || QR and X0~ YR 2 then:
(A) XY=QR P

1
(B) XY= 7 QR
(C) XY?=QR?

1
(D) XY= 5 QR




%
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12 IPand T A..“_ are 2 tangents from n.v.r,:._wm_ M.:..,.w:— I. —uc 15a C__O_....— _m, .NT.H.O = y

Find Z0PQ,
P p
T
Q
(A) 160° (B) 80°
(€) 40° (D) None

13. I£2(sin0 — cos?0) + 1 =0 then tan O is equal to : (0° < 0 < 90°)

1
(A) 1 ®) 75 © 3 @) 0
14. A cylinder, hemisphere and a cone stand on equal bases and have same height. §
Find ratio of their volumes. .
(A)1:2:3 (B) 3:2:1 (C) Lii:l] @_.Na.
15. From digits 1 to 9, find the probability of odd prime number : 1
@ M 5 .h. 2
2 (B) 3 (©) A (D) None
[6. What is the nature of roots of the quadratic equation 6x~9x—2=0;
(A) No real roots (B) 2 equal real roots
(C) 2 distinct real roots (D) No roots
I7. If X is the mean of X's then the value owwz_ is 3
=] 3
X
(A) 5 (B) 2x 4
(C) nx D M _
(D) ” ]

19. Assertion (A) : The tenth term of the AP 4, —1, -6, —11 ........1s 41,

20. Assertion (A) : Ifthere exist two prime numbers a and b then HCF (a,b) = 1.

21. State the type of quadrilateral formed by the following points A(-1,-2), B(1, 0},

(5]

,"_.,.._”___52 the equation that has roots ﬁ;\m +5 anc TD{. a _.q -
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_.___3 x2—22x41=0 (B) x* +2J2x+2=0
F(C) x*—2V2x-1=0 M) X +242x+1=0
" Direction : In the question number 19 and 20, a statement of Assertion (A)
is followed by statement of Reason (R). Choose the correct option.
(A) Both A and R are true and R is the correct explanation of A.
(B) Both A and R are truc and R is not the correct explanation of A.
(C) A is true but R is false.
(D) A is false but R is true.

o1

Reason (R) : S_ is sum of n terms then n'™ term is given by 8 =3-—§

Reason (R) : 1 is smallest factor of every number.
SECTION-B
Section B consists of 5 questions of 2 marks each.

C(-1, 2) and D(-3, 0).

OR
Ifthe point P(k—1, 2) is equidistant from the points A(3, k) and B(k, 5). Find the
value of k.

22. TInthe figure PQ is a chord of a circle with centre O, if ZTPQ = 110°. Find ZPOQ.

) Q

ﬂu



log
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X#]

23, Which term of AP J20, 175185 200 is it first negative term.
OR
Find the next term of AP sequence H s rFJ :
T4y 1-x" 1=vx
24. Findx if; XSin"30°cos’60° wmﬁ”&ﬁruewao
T 4cos’ 450 8in” 90°~ 4 cos® 45°
25. Find mean of the following data :

Section C consists of 6

26. Provethat 5, 53
27. Findthe ratio in whi
and B(-2,

questions of 3 marks each.
IS an irrational numpber giventhat /3
chy axis divides the line segment j
~7). Also find point on intersection.

OR
Point Pand Q trisect the line

that P is nearer 1 A. Find the coordinates of P ang Q.

segment joining the points A(-2, 0) and B(0, 8) such

3 isan irrational numbey %
oining the points A(s, ﬁ

28. p ; ] :
rove that : anommob..msxcannbino?&uBnm.+no; .
29. The daily expendifyre of 100 families are given below, Find f, and f, if mean daily .
EXpenditure js Rg, 188. .
Expenditure (1n Rs.) No. of families
- 140-160 b)
160-180 25
180-200 i
200-220 ._“,h
220-24¢ .mm

33.

34.
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circle subtend

W
that opposite sides of a quadrilateral circumscribing
A ;
v lementary angles at the centre of the circle.
supp OR i YT >
Iwo concentric circles are of radii 5 cm and 3 cm. F ind the
Two |
i ller circle. . 2
ircle which touches the sma : I
larger n:.c £ a two digit number and the number obtained 3. ﬂ““”qm:am&n i
i it's digit,
's digit i than the unit's dig
its digits is 99. If ten's digit is w.m_.:oua a =
Section D consists of 4 questions of 5 BM_.MM Hﬁwmﬁnﬁ:nn AR
is 640 m?. e perime
The sum of areas of two squares is
64 m. Find the sides of squares.
OR
ks for the same
Amit buys some books for Rs. 1920. If he had bought 4 Bo_d%oorm s
amount each book weuld cost him Rs. 24 less. How many boo
. initial pri book ?
What was the initial price of one el
CD and GH are respectively the bisectors of ZACB and ZEGF suc

= w that: (3+2)
lie on sides AB and FE of AABC and AEFG. If AABC ~ AFEG, show that : (

(i S (ii) ADCB ~AHGE

AN

ius of cover i nd the
A round table cover has six equal designs. If radius of cover is 28 cm. Fin
area of designed portion. (Use /3 = 1.7)
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3N K ree breaks due (o storm and broken part bends so that top of the tree toue (i) (0 [f the same Amount of¥s has been decided for wite
the groung making and angle 30° with it The distance between the foot of the trg game, then how myep fnd hag pec, collected by s _ orT
0 the point where the top touches the ground is 8m. Find the height of the tr 2 participants = 9g)
OR B/ Shruti's father gave him Some money tg buy Kiwi from the MArket for s
The angle of elevation ofan aeroplane from a point on the ground is 60°. A fter p(x) = x*-28x+160. Where, Bre zeroes of p(x)
flight of 15 seconds the angle of elevation changes to 30°. If aeroplane is flying ; g
At A constant height of |

500./3 m. Pind the speed of the plane.
SECTION-E
ons of 4 marks each.

un the following spinner game as fund-raiser o

.

Section E consists of 3 questi
36. ‘A middle school decided 10 r

Q.:._.mn.__._mm.ﬂm;_{m_.
() Find the valye of where ¢ ang B where ¢ < 2
(i) (a) Ifsum of zeroes of q(x) =kxt2x+3k 1S €qual to their product, then what
is the value of k? i
OR
(ii) (b) Write the Polynomial whose Zeroes are T. + ,.mv and ﬁw = Q.Mv
1 3 (iii) Find a quadratic polynomial, whose Zeroes are .w and -, g |
i ple : Spi i . Blu : . J 3
z.m.r '0g Purple : Spin each %gsow A_ER Tamper-prooftetra-packed milk guarantees both freshness and security. This milk
%M.HEQ %omﬂm Red (R) and another Bl Ensures uncompromised quality, preserving the nutritional vahies within and
." H L - { - - - . ; 1
! Hn M: 39 : the followi estions making it a reliable choice for health-conscioys individuals,
onthe g Ove, answer the fo owiIng qu +
(1) Listall possible outcomes of the game,
(11) Find the probability of ‘Making Purple',

(iii)(a) For €ach win, 5 partici

OR

«~3Sem—






